ROTARY POSITION TECHNOLOGY

ENCODER ACCESSORIES

Series Type Page

Encoder Accessories

Flex Brackets G2

Torque Pins G8

Torque Stop G8

Couplings G9

Spring Loaded Bracket G10

Assembly Bell G10

Servo Cleats G11

Mounting Attachments G11

Brackets G13

Rack and Pinion G13

Wheels G14

Bearing Unit G15
g
8
b
9
<
3
]
8
c
w

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com B1027 G1

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Rotary Position Technology
Encoder Accessories

Flex Brackets

Part Number:

RA-FB g
/
Description: \’/ re.118 [3.0]
Flex bracket for Hollow Shaft '6}/
RI-09, RS-31, RS-33 ) 846 [21.5]
Kit includes: (2) M2.5x6 mm screws W‘ @’/7 8.157 [04.0]

Part Number:
RA-E-46

Description:

Slotted flex mount for hollow shaft series RI-05, RI-09,

RS-07, RS-48, RS-49, RS-53, RM-50, RM-51

Kit includes: (2) M2.5x6 mm screws

Part Number:
RA-S7

Description: single point tether arm, short,

Kit includes: (3) M3x6 mm screws

for RI-12, RS-31, RS-33, RM-35, RM-36 Jj

of
\— 0.157 [24.0]

G2 B1027

.1 Fsezx [10.0] —

—={ 591 [150) -

92.110 [53.6]

21.811 [46.0]

R.063 [R1.60]

4x

.144 [3.65]

8.157 [04.0]

30

— o] 551 [140)

295 [7.5]
ﬁpow 6 [0.4]

I

454 [11.5]

—1.559 [39.6] — =

]

- —.709 [18.0]

le— .472 [12.0]

.219 [5.6]

]

—~ =

1.270

[32.25]

2.374

!

©.130 [23.3] _|
11x

—te—.012 [0.3]

S

91.378 [35.0] |-

©1.654 [42.0] —=

le— .374 [9.5]

la— ©1.969 [50.0] —=

[60.3]

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S



We reserve the right to make technical alterations without prior notice.

Rotary Position Technology TURCK
Encoder Accessories

Flex Brackets

=169 [4.3]
Part Number: ‘_I .709 [18.0]
RA-56 _-‘ t +
Description: 522 [13.25)
Single point tether arm, medium, for 0.157 [#4.0]
RI-12, RS-31, RS-33, RM-35, ' ’ f
RM-36, f 1.801 [45.75)

Loisr [04.0] 08

30" 2.972 [75.5]
(A

8.130 [03.3]
11x

Kit includes: (3) M3x6 mm screws

©1.378 [35.0] |
01.654 [42.0] —
21.969 [50.0] —=

—sf=—.020 [0.5]
— le— .374 [9.5]

Part Number:
RA-E2

Description:
Flex mount for hollow
shaft series RI-12

120" 3x

7~ R1.024 [R26.0]

Kit includes:
(3) M3x6 mm screws,
(3) lock washers

1.457 [37.0] 0.126 [23.2]
120 1200 4x

9.130 [@3.3] ———1 .709 [18.0] [42.0]
2x

t

©1.535 [39.0]

©1.890 [48.0] .020 [0.5] le—R.630 [16.0]
le—— 92250 [57.2] —»| 276 [7.0] = |t
Fe———©2.559 [65.0] —— 630 [16.0] —=| e —=1 1.260 [32.0] l=—
w
2
]
9
(]
9
<
B
[
o
o
v
<
w
Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com B1027 G3

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Rotary Position Technology
Encoder Accessories

Flex Brackets

120" 3x
Part Number: - I——.709 [18.0]
RA-E1 . R1.181 [R30.0] 2.362 [60.0]
- \\
i N 1.457 [37.0] .169 [04.3]
Description: (¢) N 4%
Flex mount, pitch circle @ 65 mm for - 3 ||
RI-12, RS-31, RS-33, RM-35, RM-36
Kit includes: (2) screws to attach Z T 7o bed 21654 [42.0]
to encoder \ m
% . \_/ 7 0.130 [03.3]_)
2x
o
la— 1,732 [44.0] —= .020 [0.5] l«—R.630 [16.0]
le—— ©2.165 [55.0] —=f 276 [7.0] = |
e 62559 [65.0] —=| 630 [16.0] — — —=! 1.260 [32.0] l=—
e 92913 [74.0] —

Part Number:
RA-E

Description:
Slotted flex mount for RI-12(flange E), R.063 [R1.60]
RS-31, RS-33, RM-35, RM-36 4x

Kit includes: (4) M2.5x6 screws

for RI-12, RS-31, RS-33
2.087 [53.0)

ft———————————————— 2,480 [63.0] —————————————»

e 2677 [680)———— ]

mt [

.709 [18.0]
276 [7.0) 353 [9.0)
8 8— i l
G4 B1027 Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S



We reserve the right to make technical alterations without prior notice.

Rotary Position Technology TURCK
Encoder Accessories

Flex Brackets

Part Number:

RA-SB 157 [4.0]
472 [12.0]

Description: R.091 [R2.3]
Single point tether arm for hollow shaft series RI-12 %/_
Kit includes: (3) M3x6 mm screws R.063 [R‘~5]J

0.118 [03.0] [41.1]

3x
/\

©1.299 [33.0]
01.654 [42.0]
©1.890 [48.0]

v .028 [0.7]
— 276 [7.0]

Part Number:

—— le—.709 [18.0]
RA-SA | I—-—.z4a [6.3]
Description: i 3
Single point tether arm for hollow shaft series RI-12, _l -307 (7.8]
RS-31, RS-33, RM-35, RM-36 -1- }

- |

.{
.563 [14.3]
Kit includes: (3) M3x6 mm screws iR i
_f .307 [7.8]
‘ L 6} 3.642 [92.5]

s 3.346 [85.0]
) 612 [15.5] R.079 [R2.0]
2.726 [69.2]
T R.079 [R2.0]
C 2.205 [56.0]
.130 [03.3] e (411]
3x
.1:.020 [0.5] 21.378 [35.0]
— .374 [9.5] 21.654 [42.0]
21.969 [50.0] “
9
]
a
Part Number: —= e—.866 [22.0] §
RA-S1 1 450 [11.4] <
L 3
Description: b
Standard single point tether arm for hollow shaft series RI-12 (\ g
—+ w
Kit includes: (1) nylon step washer (9.5 mm inside diameter),
(4) M3x6 screws,
(4) lock washers
R.136 [R3.5]
R.136 [R3.5]
4 3.386 [86.0]
2.953 [75.0]
+
O\1.575 [40.0]
30
12x

——ll:: 020 [0.5] |-=i 01.339 [34.0]

— 610 [15.5] | l=—01.654 [42.0]
la— ©1.969 [50.0] —=
Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com B1027 G5

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Rotary Position Technology

Encoder Accessories

Flex Brackets

Part Number:

RA-E1-SM

Description:

Flex mount for hollow shaft series,
RS-31, RS-33, RM-35, RM-36 (flange E1)

Kit includes: (2) M2.5x6 mm screws

Part Number:
RA-43-E2

Description:
4.5" C-face tether for RI-43

Kit includes: (3) M4x5 mm screws,
(1) 3/8-16 x 1/0" bolt, (1) 3/8-16 nut,

(1) Nylon step washer, (1) Nylon mating washer

G6 B1027

.709 [18.0] -—
098 [2.5) = (==

N\ A

R.138 [R3.5]
&RJ&B [R3.5]
+

©2.835 [72.0] ———=f

e 02.559 [65.0] —=
—= 01.299 [33.0] j=—

——  1.394 [35.4] je—

-~ 450 [11.43]

0.169 [04.3]
3x

92.205 [956.0]

i
+
@ 197 f[5.0]

—i=—.016 [0.4]

e #2.756 [70.0] —

—= le—.661 [16.8]

. #3.142 [79.8] — =

3.425 [87.0]
[77.0]
%Z\ 0.169 [04.3]
\Q\ D) 16x
=
le—— 82.382 [60.5] —=

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S



We reserve the right to make technical alterations without prior notice.

Rotary Position Technology

Encoder Accessories

Flex Brackets

TUURC K

Part Number:
RA-43-58

Description:
Tether arm (long) for RI-43

Kit includes: (3) M4x5 mm screws

Part Number:
RA-43-S8-US

Description:
Tether arm (long) for RI-43

Kit includes: (3) M4x5 mm screws,

(1) 1/4-20 x 1/0" bolt,

(3) 1/4-20 nuts, (1) Nylon step washer,
(1) Nylon mating washer

R.136 [R3.5]

,—R136 [R335]
+

—s{=—.020 [0.5]

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

— [e—1.000 [25.4]
. 450 [11.4]
o
4.488 [114.0]
4,055 [103.0]
\t
[52.0]
Q ¢Z\ 0.169 [04.3]
x)\ © 16x
g <
le—— 92.362 [60.0] —|
le—— ¢2.756 [70.0] ———=i
la— .610 [15.5] |la—————03.150 [80.0] ————— =
B1027 G7

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

n
(]
=
-]
"
w
(]
v
]
<
B
[
T
=]
Y]
<
w



Rotary Position Technology
Encoder Accessories

Torque Pins (Standard and Metric)

Part Number Description A B C D E F G (Radius) H
RI-02 0.472 0.118 0.276
RA-TP-3-S 3 mm, smooth (120 mm) | (3.0 mm) - - - - (7.0 mm) N/A
RI-09 0.630 0.157 0.276
RA-TP-4-S 4 mm, smooth (16.0mm) | (4.0 mm) - - - - (7.0 mm) N/A
RI-12 1.181 0.157 0.197 0.315 0.276 0.276
RA-TP-4-4 4 mm, M4 thread (30.0mm) | (40mm) | (5.0mm) | (8.0mm) o MO.7 1 7.0mm) | (7.0mm)
RI-12 1.181 0.157 0.250 0.374( 0.276 1/4"
RA-TP-4-832 4 mm, 8-32 thread (30.0mm) | (40mm) | (6.35mm) 9.5 mm) - 8-32 (7Z0mm) | (6.35mm)
RA-TP-6-6 RI-43 1.575 0.236 0.354 0.551 0.394 M6x1 0.276 0.394
6 mm, M6 thread (40.0 mm) (6.0 mm) (9.0 mm) (140 mm) | (10.0 mm) (7.0 mm) (10.0 mm)
T /
/ - (I _
- - - [T
c—= —— B
el
A H
Torque Stop
Part Number: Part Number: 236 [6.0] 2.098 [2.5]
RA-T1 RA-43-S5 2x
Description: Description:
Torque stop for RI-05, RI-09, RI-12, RS-07, RS-31, RS-33, Torque stop (short) for RI-43 472 [12.0]
RS-48, RS-49, RS-53, RM-35, RM-36, RM-50, RM-51 large bore series
Kit includes: Kit includes: 1
(1) M2.5x5 mm screw (2) M2.5x5 mm screws
.157 [24.0] .315 [8.0]
2.197 [25.0]

Part Number:
RA-T

Description:

476 [12.1]

o] 552 [14.0] e— = = .157 [4.0]

Torque stop for RI-05, RI-09, RI-12, RS-07, RS-31, RS-33,
RS-48, RS-49, RS-53, RM-35, RM-36, RM-50, RM-51

Kit includes:
(1) M2.5x5 mm screw

G8 B1027

$.157 [04.0]

©.197 [#5.0]
9.157 [#4.0] 1945 [24.0]
.094 [2.4]
J 551 [14.0] Lk

—| = .157 [4.0]

Part Number:
RA-43-54

Description:
Torque stop (long) for RI-43
large bore series

Kit includes
(2) M2.5x5 mm screws

.307 [E L

]
2
+
N1

2.008 [02.5] 2x —| 1.181 [30.0]
! ﬁ
.236 [6.0]

2N

f Nl

118 [3.0] I i

& SS 315 [8.0]

.307 [7.8] J

']

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S



We reserve the right to make technical alterations without prior notice.

Rotary Position Technology TURCK
Encoder Accessories

Couplings

Turck precision flexible couplings are Installation: Clean and degrease all shafts,
engineered for optimum performance with check parallel alignment. Do not exceed

Turck encoders. Designed to connect two misalignment and axial motion specifications.
misaligned shafts, our beam style couplings Clamp one end of the coupling to the drive
offer superior performance, reliability, long life shaft. Insert encoder into the other end. Tap
and are easy to install. lightly on the coupling hub to stabilize system.

Tighten the second screw.

Note: Light should be visible

through the beams.
Coupling Tabulation - in (mm)
Angular Axial
Part Number D L Parallel Misalignment ~ Motion
0.745 0.750 0.006 o +0.006
TFCO75-XXX-XXX | (790) | (190) | (0.15) 3 0.13)
0.995 1.000 0.005 o +0.005
RGOS ey | pagy | i) . 0.13)
1.240 1.250 0.005 o +0.005
TFC125-XXX-XXX | (3755) | 31.75) | (0.127) 2 0.13)
B1 = encoder shaft
B2 =drive shaft
Part Number Coupling Diameter = Encoder Shaft = Drive Shaft Part Number Coupling Diameter = Encoder Shaft = Drive Shaft
TFC075-250-M04 0.750in 0.25in 4 mm TFC100-375-M04 1.000 in 0.375in 4 mm H
TFC075-250-M05 0.7501in 0.25in 5mm TFC100-375-M05 1.000in 0.375in 5mm g
TFC075-250-M06 0.750in 0.25in 6 mm TFC100-375-M06 1.000 in 0.375in 6 mm §
<
TFC075-250-M08 0.750in 0.25in 8 mm TFC100-375-M08 1.000 in 0.375in 8 mm o
E-]
TFC075-250-125 0.750in 0.25in 0.125in TFC100-375-M10 1.000in 0.375in 10 mm g
TFC075-250-187 0.750in 0.25in 0.188in TFC125-12M-125 1.250in 12 mm 0.125in w
TFC075-250-250 0.750in 0.25in 0.25in TFC125-12M-187 1.250in 12 mm 0.188in
TFC075-06M-M04 0.7501in 6 mm 4 mm TFC125-12M-250 1.250in 12mm 0.250in
TFC075-06M-M05 0.750in 6 mm 5mm TFC125-12M-375 1.250in 12 mm 0.375in
TFC075-06M-M06 0.7501in 6 mm 6 mm TFC125-12M-500 1.250in 12 mm 0.5in
TFC075-06M-M08 0.750in 6 mm 8 mm TFC125-12M-M06 1.250in 12 mm 6 mm
TFC075-06M-125 0.750in 6 mm 0.1251in TFC125-12M-M08 1.250in 12 mm 8 mm
TFC075-06M-187 0.750in 6 mm 0.188in TFC125-12M-M10 1.250in 12 mm 10 mm
TFC075-06M-250 0.7501in 6 mm 0.2501in TFC125-12M-M12 1.250in 12mm 12mm
TFC100-375-125 1.000in 0.375in 0.1251in TFC125-375-M12 1.250in 0.375in 12 mm
TFC100-375-187 1.000 in 0.375in 0.188in TFC125-375-500 1.250in 0.375in 0.5in
TFC100-375-250 1.000 in 0.375in 0.25in
TFC100-375-375 1.000 in 0.375in 0.375in Other options available on request.
Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com B1027 G9

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Rotary Position Technology

Encoder Accessories

Spring Loaded Bracket

Part Number:
RA-SB-58

Description:
Spring loaded right angle bracket for measuring
wheels and rack and pinion systems

Used with clamping flange 58 mm
face mount screws included

)

7.087 [180.0] N =315 [8.0]
°
M3x1 3x |
°
#1.890 [48.0] 4.724 [120.0]
©1.417 [36.0] 3.543 [90.0]
‘ i
1.496 [38.0] L3515 [8.0]
2.362 [60.0]— "-
f
b 1.220 [31.0]
.256 [6.5]
1.496 [38.0] 4.016 [102.0]
L
315 [8.014

Assembly Bell

Part Number:
RA-AB-XXX-XXX

Description:
Assembly bell

Kit includes:
- Coupling
- Mounting screws

Purchase separately:
- Optional assembly with servo cleat RA-SC-58
- Used with servo flange @ 58 mm

Part Number Key:
RA-AB-XXX-XXX

Bore diameter of coupling
B2 drive shaft

Bore diameter of coupling

B1 encoder shaft

Mounting Example:

motor/drive

spring disc coupling

G10 B1027

standard mounting
screw M4x10 DIN 912 (4x)

screw M4x10 DIN 912 (3x)
washer @ 4, 3 x @ 8 x 0.5 DIN 433 7x

assembly bell
]

1\|

=== TR encoder with servo flange

T
N+

alternative eccentric fixing
fastening eccentric: RA-SC-58 (3x)

screw M4x35 DIN 84 (3x)

nut M4 DIN 934 (3x)

—

2.420 [61.5] —

=

I
1.512 [38.4]

1.171 [29.7]

|

}

f=—— 2.088 [53.0]

2.088

3.209 [B1.5]

©.177 [4.5] 3x

8.181 [24.6]
4x

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S



We reserve the right to make technical alterations without prior notice.

Rotary Position Technology TURCK
Encoder Accessories

Servo Cleats

Part Number For Encoder Type D1 in.(mm] D2 in. [mm] D3 in. [mm] A in. [mm] B in. [mm] Cin.[mm]
RA-SC-36 36 mm servo flange 0.267 [6.8] 0.197 [5.0] 0.110[2.8] 0.138[3.5] 0.089 [2.25] 0.35[0.9]
RA-SC-58 58 mm servo flange 0.350 [8.9] 0.256 [6.5] 0.126 [3.2] 0.220 [5.6] 0.114[2.9] 0.047 [1.2]

« For use with rotary encoders with servo flange —-{ B |+ A

« Kitincludes: 3 cleats and 3 screws
o Chrome plated steel L o
« Galvanized nickel finish @ @? #D1 )
& . +— — —toD3 D2
g 3 L i

ol

@O

fe— A —a=] A
Mounting Attachments
Part Number Description A in. [mm] B in. [mm] Cin. [mm] D in. [mm] E in. [mm]
RA-R-58-4 Square adapter flange 2.283 [58.0] 1.890 [48.0] 157 [4.0] 177 [4.5] 157 [4.0]
RA-R-63-3 2.500[63.5] 2.067 [52.5] 118 [3.0] 217 [5.5] 295 [7.5]
RA-R-80-4 3.150[80.0] 2.559[65.0] 157 [4.0] 217 [5.5] 295 [7.5]
A
e
FA
aq__
+ 81437 [365] A B '\ 31.890 [48.0]
Ay —1 .
50 % g ~ B —"
i I e n
E 4x (]
——I le— 059 [1.5] “’~‘253£"’3~2] Lea [D 4x H
Part Number: ﬁ
RA-R-70-10 S
<
Description: g
Used with 58 mm clamping flange face mount kit e
<
Kit includes: Mounting screws 9,_217&5_5] T rfﬂs [fx_o]m- 01,890 [48.0]

7

r —
% | ) \Sz

g 2.756 [70.0]
+— 21.417 [36.0] \ # 2.283 [58.0]
I

Nz > %
90" =

K}

v I | o

mzesx[a.z] A= \w.394 [@10.0]
059 [1.5] —= Lz.zaa [55.0];—} 4x
.394 [10.0] —= f— fe———— 2.756 [70.0] ———=
Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com B1027 G11

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Rotary Position Technology
Encoder Accessories

Mounting Attachments

Part Number:
RA-S-70-5

Description:

70 mm flange for shafted encoders RI-10

Kit includes: 3 screws to attach flange to encoder

039 [1.0]
0.236 [6.0] 3x

©.134 [3.4] 3xL

.119 [3.0]
1197 [5.0]

Part Number:
RA-S-65-6

Description:

©2.756 [70.0]

92.520 [64.0]
21.417 [36.0]

fe— 1.969 [50.0] — =
= 01,654 [42.0] -
A

65 mm flange for shafted encoders RI-10, RS-24,

RS-25, RM-28, RM-29

Kit includes: 3 screws to attach flange to encoder

M4 THD 3x
1 =
>
%
118 [3.0]
236 [6.0]

G12 B1027

1.437 [36.5]

92.559 [65.0]

071 [1.8]

gl I

f—— 82.323 [59.0] —=
fa— 21.890 [48.0] —=y

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

M3 THD
4x

91.890 [048.0]

Part Number:
RA-S-70-10

Description:

70 mm flange for shafted encoders RI-10, RS-24, RS-25, RM-28, RM-29

Kit includes: 3 screws to attach flange to encoder

354 [9.0] —=my
.236 [6.0] —=f
0.236 [6.0] 3x

©.134 [3.4] 3x [z
1 b
=k

}_

.315 [8.0]
.394 [10.0]

Part Number:
RA-S-58-10

Description:

82.520 [64.0]
81.417 [36.0]

02.756 [70.0]

[e— ©1.969 [50.0] —=
fe— #1.654 [42.0] —=f
A

58 mm flange to convert encoders with clamping flange

into servo flange

Kit includes: 3 screws to attach flange to encoder

——]
0.236 [6.0] 3x
2130 [3.3) 3x

157 [4.0]

02.283 [58.0] -

YK

E—+
| 7
}l it.ns [3.0]
.394 [10.0]

©1.890 [48.0] —=
©1.654 [42.0] —f

©2.205 [056.0]
2.118 [03.0]

4x

3x

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S



We reserve the right to make technical alterations without prior notice.

Rotary Position Technology
Encoder Accessories

Brackets

TUURC K

Part Number:
RA-MB-58

Description:

Right angle bracket

Used with clamping flange @ 58 mm face mount
Screws Included

Rack and Pinion

l—- .098 [2.5]

051 [1.3]

[36.0] 3.150 [80.0]

f—— 3.150 [B0.0] —— =

fe—— 2.362 [60.0] ——=f

©.276 [97.0] _//ED
2x

.079 [2.0]x45
2x

.866 [22.0]

C_B__{ 1.575 [40.0]

=

1.772 [45.0]

21.890 [48.0]
92.378 [60.4]

0.134 [03.4]
3x

Part Number:
RA-RACK-1000

Description:
Rack

Part Number:
RA-P-6
RA-P-10

Description:
Pinion
Part Number:

RA-RACK-95

Description:
Support

.746 [19.0]

L

e —

.787 [20.0]

b 197 [5.0)|e—— 3937 [1000] —— ]

=~— .472 [12.0]
A—‘ - f=— .236 [6.0]
— f
2.709 [18.0] %7774&512 [13.0]
l =
— — w305 6.236 [6.0]
B1027 G13

Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

n
(]
=
-]
"
w
(]
v
]
<
B
[
T
=]
Y]
<
w



Rotary Position Technology
Encoder Accessories

Diamond Knurl DK1
Plastic Smooth PS2
Plastic Smooth PS3
Rubber Tread RT1
Plastic Corrugated PC1
Selection of the measuring wheel profile according Measuring Wheel No. 05

to the surface of the measured material
fe———————6.266 [159.2] REF—M —— = —— ~—.976 [24.8]

Surface of the Measured
Material Recommended Profile No.

Cardboard DK1, PS1, PS2, PS3, RS1, RT1
Wood DK1, PS1, PS2, PS3, RS1, RT1
Textile DK1, RT1, PC1
Plastic (e.g., PVC, PE, ...) PS1, PS2, PS3, RS1
Paper PS1, PS2, PS3, RS1 7
Wire PS3, RS1 J
Bare metals RT1 U LDWB
Varnished surfaces RT1 7 M5x0.7 8mm

Measuring Wheel No. A9 Measuring Wheel No. 02
3.820 [97.0] REF. - 394 [10.0] 02.506 [63.7] REF. - =472 [12.0]
—-—1oD Hg ———Ffwms
i —1
U M4x0.7 6mm M4x0.7 6mm
G14 B1027 Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S



We reserve the right to make technical alterations without prior notice.

Rotary Position Technology TURCK
Encoder Accessories

Wheels
A B C D
RMW - 02 B DK1 -
. Measurigg Wheel ) Prt.):ﬁle Coating Hca‘::ltrl\zgs W;'niileﬁ:fy Tem‘[’JveorLI:iunrge ©C) W(-(!;g)ht Stanlzlard
Circumference/Diameter/Width Code Shore A Bore (mm) "

DK1 Diamond knurl (aluminum) Aluminum -30to +80 60 6,10
PS1 Polyurethane smooth 20 Aluminum -30to +80 60 6,10
02m/863.7 mm/12mm RT1 Rubber tread 60 Aluminum -30to +80 60 6,10
PC1 Polyurethane corrugated 920 Aluminum -30to +80 60 6

DK1 Diamond knurl (aluminum) Aluminum -30to +80 350 10

PS2 Polyurethane smooth 90 Plastic -10 to +50 260 10

05 PS1 Polyurethane smooth 20 Aluminum -30to +80 700 10

0.5 m/g 159.2 mm/25 mm PS3 Polyurethane smooth 90 Aluminum -30to +80 320 10
RT1 Rubber tread 60 Aluminum -30 to +80 700 10

PC1 Polyurethane corrugated 920 Aluminum -30to +80 700 10

6"/1 '93,30.47,, DK1 Diamond knurl (aluminum) Aluminum -30 to +80 40 6

DK1 Diamond knurl (aluminum) Aluminum -30 to +80 115 10

PS1 Polyurethane smooth 920 Aluminum -30to +80 115 10

12'/3.82°/0.47° RT1 Rubber tread 60 Aluminum -30 to +80 110 10

PC1 Polyurethane corrugated 920 Aluminum -30to +80 115 10

A9 .
12"/ 3.82"/0.38" RS1 Natural rubber smooth 75 Aluminum -30 to +80 100 10

" Other bore diameters on request

Bearing Unit

Part Number:
RA-BU-10-10

M4x0.7 8mm deep

=
Description: ®1.417 [3,6.0]-L
Robfust bee(ljring urtwﬁ]t ftljr solid q A
shaft encoders with clamping flange
and shaft 10 mm ping 9 i =
0.394 [10 O]E = = — —1 2283 [58.0]
Speed: Max 6,000 RPM

Load: Radial: 135 Ibs (600 N),
Axial: 45 lbs (200 N)

Weight: 1.23 Ibs (0.56 kg)

Protection: IP67 (when closure
caps are used)

T
[N —
o =394 [10.0] L

787 [20.0] e 3200 [83.) 354 [9.0]

.890 [48.0
Kit includes: 21890 [48.0]
- Bearing box
- (3) M4x25
cylindrical pins
-(1) O-ring
°
\J Unit shown with optional encoder attached.
Consult factory for additional information.
Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com B1027 G15

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

n
(]
=
-]
"
w
(]
v
]
<
B
[
T
=]
Y]
<
w



Rotary Position Technology
Connection Accessories

G16 B1027 Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

“92130U Joud INOYIM SUOIFRIIE [BD1UYI3} 3Xew 03 3B U3 SAISSI S





